R4.10.1 BiE S amEEADR P BT R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5)
ik 48,359 109, 741 53, 444] 56, 297 36 -8l 54 56 110 46] 431 385 0 131 131
HI—TH 711 1,509 737 772 2 3 0 0 0 2 2 0 1 1 0
FLl T H 562| 1,298 640 658 -4 =10 0 1 1 -8 2 10 -2 0 2
LI =TH 464 1,040 507 533 1 0 -1 0 1 1 2 1 0 0 0
Sl AEH 1,737 3,847 1,884 1,963 -1 -7 -1 1 2 -5 6 11 -1 1 2
Sk —TH 472 949 444 505 1 0 -2 1 3 -1 4 5 3 4 1
. = 735 1,731 834 897 —4 ~7 -5 0 5 0 3 3 -2 2 4
SR —TH 5531 1,299 620 679 3 0 0 0 0 6 6 0 -6 0 6
S AT H 394 886 435 451 -5 -7 -3 0 3 -5 2 7 1 1 0
ot T H 614 1,331 644 687 5 4 0 0 0 -2 2 4 6 6 0
BN T B 235 502 251 251 1 —4 —4 0 4 -2 0 2 2 2 0
ARt TH 649 1,674 810 864 2 -6 —4 1 5 -3 4 7 1 1 0
oA\ T H 389 854 400 454 2 -2 -1 0 1 -1 3 4 0 0 0
IV B 612 1,460 725 735 1 3 0 1 1 3 6 3 0 3 3
S naEkl 4,653 10,686 5,163 5,523 6 -19 -19 3 22 -5 30 35 5 19 14
e n—1H 350 811 399 412 4 7 0 1 1 7 7 0 0 1 1
w1 AL 1,003 2,116] 1,069 1,047 6 9 2 6 4 4 10 6 3 3 0
HHk o —TH 684f 1,417 701 716 3 7 0 0 0 7 11 4 0 0 0
R AR 2,037 4,344| 2,169] 2,175 13 23 2 7 5 18 28 10 3 4 1
Mt A — T H 5551 1,239 608 631 4 3 -2 0 2 5 8 3 0 0 0
ek R _TH 357 922 473 449 2 1 1 1 0 0 2 2 0 0 0
Mk R =TH 258 550 284 266 1 2 1 1 0 1 2 1 0 0 0
ik L G| 558 1,293 651 642 2 2 0 0 0 2 4 2 0 0 0
msEr aaEtl 1,728 4,004 2,016 1,988 9 8 0 2 2 8 16 8 0 0 0
JCE g 367 851 411 440 1 2 0 0 0 3 5 2 -1 0 1
HOEEN— T H 211 437 211 226 1 3 0 0 0 3 3 0 0 0 0
HOEE T H 419 945 458 487 -5 -8 1 1 of -11 1 12 2 4 2
HoEEI =T H 688 1,712 840 872 1 -5 -3 0 3 -5 0 5 3 4 1
HOEEAN T H 807| 2,027| 1,005 1,022 6|  -16 0 3 3 -8 0 8 -8 0 8
HOERS T H 442 1,031 519 512 0 0 0 0 0 0 0 0 0 0 0
HOEEIS T H 398 896 442 454 -1 -5 0 0 0 -5 0 5 0 0 0
HoEEOETH 673 1,467 712 755 3 -2 -3 1 4 0 4 4 1 1 0
HOEESOSE 3,638 8,515 4,187| 4,328 -71 =33 -5 5 100 -26 8 34 -2 9 11
PEEE 1,504 2,807 1,334 1,473 0 -7 -3 0 3 -7 9 16 3 3 0
FHIAR 301 632 330 302 -2 -5 -2 0 2 -3 2 5 0 0 0
EE g —T 55101 1,117 517 600 0 0 0 0 0 -1 1 2 1 1 0
EE g — T 254 516 259 257 1 1 0 0 0 1 2 1 0 0 0
R =T H 522l 1,161 580 581 0 -2 -1 0 1 1 3 2 -2 0 2
EESN R T H 629 1,306 621 685 3 3 1 1 0 3 10 7 -1 0 1
EEP g R T H 237 543 272 271 -1 -3 -1 0 1 -3 2 5 1 2 1
EERP A2 2 1931 4,643]  2,249] 2,394 3 -1 -1 1 2 1 18 17 -1 3 4
EEIARRT— T H 676 1,373 651 722 5 7 1 1 0 7 8 1 -1 0 1
EEIARRT T H 656 1,274 593 681 -2 -8 -2 0 2 -2 4 6 —4 1 5
EEOARRTAE 1,332 2,647 1,244 1,403 3 -1 -1 1 2 5 12 7 -5 1 6
RPN 282 787 425 362 -2 -3 -1 0 1 -2 2 0 0 0
WHR—TH 714/ 1,637 803 834 0 -1 0 0 0 -3 8 2 2 0
R T H| L7656 3,985 1,924 2,061 2 -8 -3 0 3 -3 17 20 -2 4 6
WHR=TH 864 2,212| 1,080 1,132 1 -1 -5 1 6 -1 6 5 7 2
HHRIT H 494 1,180 562 618 3 1 0 0 0 1 2 0 2 2
HPREEH 3,828 9,014| 4,369 4,645 6 -9 -8 1 9 -6 30 36 5 15 10
HiR—TH 680l 1,528 740 788 -1 -9 -1 1 2 -1 4 -7 0 7
IHR_"TH 930 2,237| 1,115| 1,122 2 3 0 1 1 1 7 2 3 1
PR =TH 492 1,054 541 513 6 10 1 1 0 5 2 4 5 1
brpiR&eH 2,102(  4,819]  2,396] 2,423 7 4 0 3 3 5 18 13 -1 8 9
T IROBTHT 322 807 388 419 -5 0 0 0 0 4 10 6 —4 0 4
el 1,609 5,123 2,291 2,832 9 4 -1 1 2 0 10 10 5 5 0
M E T H 732 1,721 834 887 -1 -4 -3 0 3 -4 6 10 3 0
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FYlE 1T H 752 1,823 916 907 3 7 0 1 1 12 15 3 -5 0 5
MoE =1 H 640/ 1,504 749 755 0 -2 -2 0 2 2 2 -2 0 2
A EN T H 927|l  2,225| 1,050 1,175 0 -8 -2 0 2 1 7 -7 0 7
RCENNE 636 1,451 717 734 3 -3 -2 0 2 3 5 —4 0 4
MAEST H 416 981 460 521 1 3 -3 0 3 0 0 6 6 0
Al EaE 4,103 9,705] 4,726| 4,979 6 -7 -12 1 13 14 41 27 -9 9 18
VEPIe S 562l 1,137 564 573 —4 -1 1 1 0 -1 5 -1 0 1
e —TH 318 698 331 367 3 2 0 1 1 5 1 -3 0 3
i — T H 602|l 1,335 635 700 4 3 -2 0 2 2 1 3 4 1
A gl 920/ 2,033 966| 1,067 7 5 -2 1 3 7 2 0 4 4
E— 1 H 321 691 354 337 5 5 -1 0 1 4 14 10 2 2 0
B — T H 640l 1,377 656 721 4 1 0 0 0 0 4 1 1 0
=T H 398(l 1,047 523 524 1 —4 0 0 0 -1 2 -3 0 3
EAEr| 1,359 3,115 1,533] 1,582 10 2 -1 0 1 3 20 17 0 3 3
e —TH 382 932 435 497 2 1 0 0 0 1 2 1 0 0 0
WHE T H 4421 1,083 543 540 -1 —4 -1 0 1 -2 3 5 -1 1 2
HWHE =T H 797 1,964 1,000 964 3 7 1 2 1 6 11 5 0 4 4
W& T B 450 1,037 506 531 -2 0 2 1 3 2 1 1 0
B E ] H 822 1,769 869 900 -1 1 2 7 13 6 -3 2 5
HHIENT H 245 512 256 256 4 6 1 1 0 3 1 3 3 0
HEOEE 3,138 7,297| 3,609 3,688 10 13 -2 4 6 15 35 20 0 11 11
<HWE—TH 604f 1,380 675 705 0 0 -1 1 2 1 4 3 0 0 0
<HEIL—TH 715 1,485 724 761 -2 -5 1 3 2 0 10 10 -6 0 6
SHBEIL=TH 520( 1,139 557 582 3 6 -2 0 2 6 1 2 5 3
<HEWLPTH 585 1,197 593 604 5 7 0 1 1 5 4 2 2 0
<O T H 295 661 356 305 -3 -5 -2 0 2 0 2 -3 0 3
<WEEEH 2,719 5,862 2,905 2,957 3 3 —4 5 9 12 32 20 -5 7 12
WIE AR —TH 790 1,708 852 856 3 -1 2 3 0 8 6 7 1
WIEAR T H 467\ 1,129 582 547 2 10 2 2 0 -1 7 9 9 0
PIEANTSE 1,257 2,837 1,434 1,403 5 15 1 4 3 -1 14 15 15 16 1
s 393 762 361 401 0 -3 0 0 0 5 6 1 -8 0 8
ek —TH[ 1,078 1,722 784 938 3 6 0 1 1 5 26 21 1 3 2
e T H 427 731 361 370 3 8 1 1 0 4 7 3 3 3 0
kR =T H 665/ 1,716 812 904 -3 -13 -2 0 2 -5 6 11 -6 1 7
sk BRI H 405 853 411 442 2 6 3 3 0 2 8 6 1 1 0
ke El 2,575 5,022]  2,368] 2,654 5 7 2 5 3 6 47 41 -1 8 9
FRIREET 20 54 28 26 0 0 0 0 0 0 0 0 0 0 0
B 755 1,744 842 902 1 0 2 2 0 0 2 2 -2 0 2
VEEE 320 727 330 397 -1 0 0 0 0 0 3 3 0 0 0
e — T H 4491 1,123 553 570 -3 -2 3 3 0 -5 0 5 0 0 0
e T H 402 912 445 467 0 -3 2 2 0 -5 1 6 0 0 0
oo B R 851 2,035 998 1,037 -3 -5 5 5 of -10 1 11 0 0 0
P — T H 678|l 1,383 693 690 5 5 -1 1 2 1 5 4 5 5 0
P T H 543 1,315 623 692 1 2 -1 1 2 3 4 1 0 0 0
Ve A s 1,221 2,698 1,316 1,382 6 7 -2 2 4 4 9 5 5 5 0
P e 322 685 343 342 0 -1 -1 0 1 0 3 3 0 0 0
BEHIR 211 502 265 237 1 1 -1 1 2 2 3 1 0 0 0




